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Choosing the -3 dB point at 
4 kHz, and using the
Relation:

RC = 1/(2 · pi ·f)

we get R = 4 k, if C is 
chosen as 0.01 mF:

R = 4.0 k

C = 0.01 mF

OCR1
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Filtered and unfiltered 
PWM Outputs
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/* Controls a LED that can be directly connected from OC1A 
to GND.  The brightness of the LED is controlled with the 
PWM.  After each period of the PWM, the PWM value is either 
incremented or decremented */
int
main (void)
{

ioinit ();
/* loop forever, the interrupts are doing the rest */
for (;;)

;
return (0);

} ����� � � � � �

void
ioinit (void) 
{

/* tmr1 is 10-bit PWM */
TCCR1A = _BV (PWM10) | _BV (PWM11) | _BV (COM1A1);
/* tmr1 running on full MCU clock */
TCCR1B = _BV (CS10);
/* set PWM value to 0 */
OCR1A = 0;
/* enable OC1 and PB2 as output */
DDRD = _BV (PD5);
timer_enable_int (_BV (TOIE1));
/* enable interrupts */
sei ();

}
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SIGNAL (SIG_OVERFLOW1) 
{

switch (direction) 
{

case UP:
if (++pwm == 1023)

direction = DOWN;
break;

case DOWN:
if (--pwm == 0)

direction = UP;
break;

}
OCR1A = pwm; /* triangle */

}
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